
2.11 Identify if a Number is a Solution to an Equation 3
MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

Decide whether the given number is a solution of the given equation.
1) Is 13 a solution of y + 5 = 18 ? 1)

A) Yes B) No

2) Is 0 a solution of h - 4 = -4? 2)
A) Yes B) No

3) Is 17 a solution of 8c + 5 - 7c = -24+ 12 ? 3)
A) Yes B) No

4)  Is -3 a solution of 3 + x = 0 ? 4)
A) Yes B) No

5) Is 9 a solution of k - 6 = 3 ? 5)
A) Yes B) No
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Answer Key
Testname: 2.11 IDENTIFY SOLUTIONS TO AN EQUATION 3

1) A
2) A
3) B
4) A
5) A
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